
Detail No.                                           Description                                                               Qty.        Order By Part No.     Qty. In Kit (KT)
Parts List  

Rev. No. 9       Revised:  7/11/18    By:  PRL

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23

5 Spoke Tip Assembly (Includes: Tip Retainer Ring & Alum. Tip Retainer)

Tip Retainer Ring & Aluminum Tip Retainer
1/4-20 Hex Nut
Guide / Eye
Inner Clutch Disk
Graphite Pad
Shaft Dowel Pin
Outer Clutch Disks
Regular Belleville Washers
Regular Clutch Knobs
A-Reel Clamp (No Shaft)
B-Reel Clamp (w/ Shaft Assembly)
5/16-18 x 2 in. SCH Screws
8 in. Reel w/ Bushing
Handle Assembly
Upper Mast Section
Lower Mast Section
5/16-18 Bolt
5/16-18 Acorn Bolt
Mounting Base
51226 - Latch Assembly
4 in. x 6 in. Mounting Plate
1/4-20 x 5/8 in. SS Flat Head Socket Bolt

1
1
1
1
1
1
1
1
4
1
1
1
2
1
1
1
1
1
1
1
1
1
4

KT3049
KT51043

2133
2500

KT51098
KT2307

2165
KT51093
KT2231
KT51152

51300
51301/ASM

2144
KT51164
KTHA101
51281/SM

51286
2400
2161

KT58407

Sold As A Set

PM00374

To order these four parts as an assembly,
order: KT58407
Also, check the schematics in the Service
Department on our web site at www.bigjon.com

1 per kit
1 per kit

1 per kit
2 per kit

1 per kit
4 per kit
2 per kit

1 per kit
1 per kit

1 per kit
1 per kit
1 per kit
4 per kit

Big Jon Sports, Inc.  •  11455 US-31 South  •  Interlochen, MI 49643
(231) 275-1010  •  Fax: (231) 275-1009  •  email: emailus@bigjon.com  •  website: www.bigjon.com


